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I.Field of work

Research field: Stochastic Models

1. Grid Computing

Research projects like Seti@home, Folding@home, which get volunteers to help solve problems. There was a lot of randomness in this environment.

How to schedule?  -Replication

2. Call Centers

Impact of flexibility 

II. Probability Paradoxes
1. Inspection Paradox
More randomness makes the performance of the system worse

Model: waiting for buses

Senario 1:  time between buses  T = 10 min  ET = 10 min

         W= waiting time       if show up at random       EW = expected value or mean = 5 min

Senario 2:  time between buses is equally likely to be 5 or 15 min 

         ET = 10 min    => 6 buses per hour

         EW = 2.5 * (1/4) + 7.5 * (3/4) = 6.25 min

Senario 3: T = Time between 1 to 14 min equally likely     

         ET = 7.5 => 8 buses per hour

         EW = 0.5 (1/15) + 7 (14/15) = 6.57 min

2. Simpson’s Paradox

Ex: 1973 UCB admissions

	
	Admitted
	Denied
	% Admited

	Males
	3738
	4704
	44%

	Female
	1494
	2827
	35%


What caused the difference in admission rates?

-Departments men and women applied for were different. It was harder to get into English and Humanities than it was to ge into Math and Engineering.

	
	Math
	English
	Overall

	
	Adm
	Den
	%Ad
	Adm
	Den
	% Ad
	Adm
	Den
	% Ad

	M
	90
	10
	90%
	1
	9
	10%
	91
	19
	83

	F
	10
	1
	91%
	14
	90
	13%
	24
	91
	19


Women were admitted at a higher rate than men at each of the department. But the overall admission rate was lower.

Ex. Analysis of admission to Harvard

Whites were admitted at higher rate than Asians. Was it acial bias? 

No. Legacies, athletes were more easily to get in and they were mostly whites.

Ex. In Georgia, white people were more likely to get death penalty. Why?

Defendants were more likely to get death penalty if the victims were white. White people were more likely to kill white people.
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